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te: Answer any 2 full questions, choosing one full question from each part.

IQN| Questions Marks|RBT| CO's
PART A
!2Find (1) L{cost cos2t cos3t] (ii) LI 1"‘;’”‘“] 8 (Eol e
 |blA periodic function of period 'a' is defined by 8 |L3|cCoOl
/ 05 {l-::t-::%
()= s = .Then Show that
—F, —<i{<g
i \ 2
v E as
LI £ (¢)}=% tanh (%
| | LS (0)]="5tanh ()
CiSolve: y''(¢)+5y’(¢)+6y(¢)=5¢* with 9 [L2(CO1l
y(0)=2,y'(0)=1 by using Laplace Transform

OR

-a‘Expr?ss the following function in terms of Unit Step
| [function and hence find its Laplace Transform where

5

cost, O<t<n

f(t)= cos2t, m<t<2nu

cos3t, 1>2n




OR

he Z transform of (i) cos[**+%]

=

the Inverse Z transform of [

Z 8. |L2|CO3 e,
z-3)(z—-2) 3

?IYB _thﬂ ,d.iﬁ‘arence equation U, tOU,, 49U, = 2 9 L3|CO3
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